Ratio to Herwig++ 2.6.3 default

7000 GeV pp Top (parton level)
— 1 T T L B B

Rivet 3.1.10, = 300k events

mcplots.cern.ch [arXiv:1306.3436]

N

_| I T | T I T I T I T I T | T I
B AQ (ttbar) (Mtt > 450 dy < 0) B
= __o-- Herwig++ 2.6.3 default =
[~  --3-- Herwig 7.0.2 default 7
- 0|
= '/D;
N g =
- A
— - g —
— -
— g@ a
— g@@%* B
i EE@@ n
= 2 —
= B° E
— 6@@% -
— - lB@@@ ]
: g@{%g )
El | | | | | | | | | | | | | | | -
:I ' ' ' ' [ ' ' ' ' [ ' ' ' ' [ —
G -
569548 g :
N m$$$$$* B A=l _
" ~ I\—{'EHEHH |
i o SUng
u ]




	Contents
	Page 1


